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1.A-Named opposite to Latitude, exept when Hour Angle is between 90&270 degrees.

2.B-Always named the same is Declination .

3.Azimuth takes combined names of C correction and Hour angle. 

Sin(Hc) = Sin(LAT) * Sin(Dec) + Cos(LAT) * Cos(Dec) * Cos(LHA)

1. Function of LAT always “+”.

2. Function of Dec “+” when is named as LAT;

Sin(Dec) “-“ and Cos(Dec) “+” when name of Dec opposite to LAT.

3. Cos(LHA) “+” when LHA< 90 deg.;

Cos(LHA) “-“ when LHA > 90 deg..

	LAT =
	
	Log Sin =
	
	
	

	Dec  =
	
	Log Sin =
	
	
	

	
	
	Log Hav=
	
	Nat Hav     =
	

	
	
	
	
	
	

	LAT =
	
	Log Cos=
	
	
	

	Dec  =
	
	Log Cos=
	
	
	

	LHA= 
	
	Log Cos=
	
	
	

	
	
	Log Hav=
	
	Nat Hav      =
	

	
	
	
	
	Nat Hav      =
	

	Hc    =
	
	
	
	Log Sin(Hc)=
	


	TIME
	Hs

	
	

	
	

	
	

	
	


	Hs    =
	
	Sextant altitude

	i       =
	
	i=360-oi (lower limb “+” / upper limb “-“)

	I       =
	
	Sextant index error
	Box of sextant

	D     =
	
	Dip of horizon
	NT p.453 / Almanac A2

	R     =
	
	Atmospheric refraction
	NT p.454  

	PA   =
	
	Parallax in altitude of the Sun, Moon, Venus or Mars
	NT p.453

	S      =
	
	Semi-diameter of the Sun or Moon
	NT p.453 / Almanac daily pgs.

	^t,^b=
	
	Additional refraction corrections
	NT p.454 / Almanac A4

	Ho   =
	
	OBSERVED ALTITUDE

	-Hc =
	
	CALCULATED ALTITUDE
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